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All Qwstions ane compulsory and, each question is of I mark

shl rrvr.el C efiilrai'+ 6 ffia+ efriE? qan F? qru * t

Only Engtish version is valid in case of difference in both tlw languages'

1. 'qFE' frq{ irftq{ *' uge ffi Er
"rrdniq,, 

@t wt 61 Inr) 0.1 cm t t

''qfrqr 
tqr+ qt gfr rr'il at tqr 5o t r

qgqFr.Ridqttnr srerfr{ qn t
(a) 0.01 cm O) 0.001 cm

(c) 0.02 cm (d) 0.002 cm

gq,'qm qrqfrt+6{ *'rgc i:qf+ + d}
strrT iFT rrr 0.5 mm t r 7*+ ffi w
ga wil frt {et 50 t r E{rirI srf,rfiq
qrqt
(a) 0.01 cm
(c) 0.02 cm

The value of smalle'st division of
main scale of vernier calliper is 0.1

cm. The total no. of divisions on the

vernier scale is 50. The least count of
this vernier calliPer is
(a) 0.01 cm (b) 0.001 cm

(c) 0.02 cm (d) 0.002 cm

The value of smallest division of
main scale of an outside micrometer
is 0.5 mm. The circular scale has 50

divisions. The least count of it is
(a) 0.01 cm O) 0.001cm
(c) 0.02 cm (d) 0.002 cm

To find the internal diameter of deep

holes it may be used

(a) Vernier CalliPer
(b) Bore Gauge

(c) Slip Gauge

(d) Vernier DePth Gauge

1.

(b) 0.001 cm
(d) 0.002 cm

3. ,I6t H 6r qr<fim'EIrfi illiT q'd iE
r5funq1sqtilrt
(a) #qt+fu{
(b) +(+q
(c) kqh
(d) #q{tq+q

3.

P.T.O.
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4. Hrf{fl{+tq{flamritrigt

(a) sin e =|
I(b) sin 0 =i

(c) sin 0=hx /
(d) sin0=h+/
sntrr-kqiqfrtffi

, - rflFr qR frt i{q't

5. +q(yr"qttfr{+qfT (m) frqrqnrt

(a) m=TxD (b) ,o=+

T(c) ,o=; (d) m=T+D

wlo -qraqm
r -+dT +ttqr

6. Efrq firq ec) + iilrft t
(a) P. =B ru)

(c) p. =? (d)

D -fiT*c- D

D-lc*c-TxD

7. rtttil?rdrw+tq{+tqtqrqrgqfrrt
(a) qftry+dr(
(b) qrtfti$e{

(c) ddd-d+er
(d) qfrq{u{a'lq

8. TS Eil-sf tt sPrqr fta rT{ft" vc +t
qrarE:

(a) {squrq{flr
(D, Tqrffrq{I?
(c) s(Kq{F{
(d) nqrq{,ftr

t0ti)
The forrrulae used to find Taper by a
sine bar is

(a) sine=|
I(b) sin0=f,'

(c) sin0=hxl
(d) sin0=h+I
Where h - height of slip gauges

I - length of sin bar

5. For gear terminology the module mis
given by

(a) m=TxD

(c) * =#
Where D - Outside diaureter

T - Number of teeth

The circular pitch @.) is given by

(a) P"=B O) p.=#

(c) P"=* (d) p.=#

The flatness and straightness may be
measued by
(a) Vernier calliper

O) Micrometer
(c) Auto collinrator
(d) Vernier height gauge

Thread cutting operation may be
performed on the machine
(a) Shaper machine
(b) Milling machine
(c) Lathe machine
(d) Dtilling machine

O) *=?

(d) m=T+D

7.

(2)
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g. E{Kq{tr{{ mq6I qlortdrt
(a) sTHdrfiR (b) iatqffiR
(c) . mt+n (d) rigrsn

10. utq E+{ t YuH {FquT rTrftq { qm +t

'ftdfft(a) uF4trn+

(c) qtt{
O) fisrt
(d) +tqfi

11. dt err*r *' qrqarqm dq v{ qE qt+q

ffi€ q{Rr wtoqt qmr t r'
(a) rertmq{fr{

O) {6qsr q{ftq

(c) wqccqq{ftt
(d) +qqqtrftr

tz. qp'qiq{ rilflr { 6 ot'tfr tft t
(a) stqftrrdlrTI+

O) dkrnnT+
(c) qfr
(d) +iqfi

13. ffitnaorqr{t
(a) BEIIIFTFIHItRSI

O) frqrffir
(c) dqdfutr
(d) sq+frTm

14. dfilr trr,qr t
(a) BHq'€r
O) foneirsr EFr{r

(c) Br{q.Sisralt
(d) fritqrT

15. urln"rmn qeu *'H qq r5ff fu,en

qmi
(a) Eqqifrr
O) 6rt*s&
(c) EEstd
(d) s{ftmq$

(3) 20E3

The shape ofjob in Lathe machine is

(a) Rectangutar O) CYtindrical

(c) Square (d) SPterical

At the time of rnetal cutting, the

motion of tool in shaper mactrine is

(a) Reciprocating (b) StationarY

(c) Rotary (d) None

The metal cutting of small sized

rectangular jobs maY Perform on

(a) Lathe machine

O) Shaperhachinc
(c) Planner maphine
(d) Drillrng rnachine

The motion of tool in a slotter

machine
(a) VerticalReciProcating

O) HorizontalReciProcating
(c) Rotary
(d) None

The working (PurPose) of cutting
fluid is
(a) Heat transfer

O) Removal of chiP
(c) Prevent rusting
(d) All of thp above

Bsring is the process

(a) To make hole

O) To enlarge hole

(c) Threading in ahole
(d) None

Generally the metal used for tools is

(a) Cast Iron

O) Hieh SPeed St€el

(c) Mild Steel

(d) All of the above

P.T.O.

9.

10.

11.

12.

13.

14.

15.

I
\

(
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16. {ile 6crqD olu+ +H Err+'ft q{ftq +

17.

(a) +rt
(c) EiT{

(b) IrkrFFr

(d) dq (qrrt)

qvh+ w{tqur Eilq ftt q* t
(a) q\ftlqd"+fu+

O) utqhr*ttq
(c) qrimfr€mqt+H

(o) sq{rfr Rqr

qtrq qvfr{ { 'ftq dq{ qrftil, +dr t
(a) sfiq qtr €flftffiilq qr€

(b) HFT iil {lftffifrq Ar€
(c) q[-{ml qtrrffiqErqE

(d) frttifi

19. rfr'r qP*.qr tqrq wflq qr+t wfr t r

18.

(a) ERR

(c) +n
O) {Frrur

(d) qtq{

RIRFH qvftq { qffi srFilr + qq
*i q*g+ or gqflrrT t
(a) q{fr{ ilE{ (b) T +€
(c) 3 16 sD' (d) +{il

zt. 2frr sPrqr t
(a) Brq,{+ at
(b) funfrtqgrq,d+t

(c) qralffi6ra++t

(d) sffikoq$qrrc+frt

- 

J

(4) ", ;rr, .r , ,.!llB:l,f

16. The machine usei!,to crttt slot is
(a) drilling ''; G) planner

(c) slotter (d) lathe

17. The alignment test performed on the
ma:hines is for

(a) Horizontal plane

O) Veticalplane
' (c) Relative displacement

(d) All

The "Swing over carriage" in a lathe
machine is -

(a) MfliAum diaureter ofjob.

O) Maximumtraveloftool.

(c) Maximud tength ofjob.
(d) N"*

Knurling operation may performcd
on the machine

(a) Lathe (b) Shapr
(c) Drilling (d) Slotrsr

To hold the irregulator shape of jobs
in planner machine the accessory is

(a) Machine vice O) T bolts

(c) 3 Jaw chuck (d) Mandrel

Tapping is the process

(a) to make hole

(b) to enlarge hole

(c) for external threads

(d) for internal threads

18.

19.

21.

a.!

20.
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zz. rprr m fl{ t fr- qr rh ura nqm
ffsM dqIqT trr rnrrr d{r
(a) srgrlFr

(b) qtFr

(c) qrftffi'q'ftffi
(d) srtffiq*

23. rq# qrr *. ffis + nq d qqr qt
qmrt
(a) qrfi+qt
(c) Hq(+

24. q'tqrlnwrrnt

*n(+qt
qfiftt+c{*

o)
(d)

v

(a)

25.

o)

(c)

(d)

Yt + Ia + :""' )m
n

4*rt*......t*
n

(o, qw k{ dq silqr
firnTqrzatru\-
(a) ffiq+,
(b) toalur
(c) frqftsr
(d) st{fi

+H

w::fr

'Yr + Y, + ...... )m

(5) 2tlr3

Precision means, the value measured

by an instnrment in equal conditions
for every time will be

(a) unequal O) equal

(c) more or less (d) all

23. The Gap of electrode for spark plug

may be measured bY

(a) wire gauge O) feeler gauge

(c) callipq (d) micrometer

The value of RMS (Root

squar-e) is

Mean line

Sample length L

24.

(a)

Y r + Yz+ ...... yn
(b) 

--
y? +v7+ ......yn2

w,r-

25.

(d)

For a, single Point cutting

angle luas in figure is

(a) Clearance angle

(b) Rake angle

(c) Lip angle

(d) None

tool the

wti....y*,

'Yr+Yzi.:.... Yn

-

,
,1

P.T.O.

ffi
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27.
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ltosiftqiqq ta { siur or qrrn fu{r+
il{rTl[,qrqilri ?

(a) q*e sa
(b) uii,E{tss
(c) rdq{ts
(d) +€(ts

iuergqR Fer sT wHr ril qFT EIIII

(a) 2.0 rnrn
(c) 2.5 rnm

(b) 8.0 rnm

(d) +ttqd

tmfrfut*n1qrqrqs'ilrt r
(a)' ekilqqr€
(b) qqr+qrq

(c) fuanrrqrq
(d) *sqrfqq

F', m EEi tDartR ErtI qr{R qr wr qrqr
qrqn+tt
(a) +e.{o
(b) Fdr+r{
(c) T+qfuq
(d) or+ffi Sqrt

RE qkaq?-TET HI EFFT i5'IFfq fq:f q
furqTr{*oor srdtrv
(a) rrcr qt ffi S 6.q firq r{rqr

arrt r

(b) qirrv{q{frHq eilqwfi,.t r

(c) s6qrqqftftrftnqt I

(d) ft$ rfi

29.

t
A

(o mt3

angle is26.

27.

In a combination set the
measured by
(a) Steel Rule

O) Protractor Head
(c) Square Head
(d) Cenffe Head

As in figure the value of
roughness will be

..2.0 q-
2.5 mm

O) 8.0 mm
(d) None

By two wire method what can be
measured

(a) Majon dia.meter
(b) Effective diameter
(c) 'ffior diameter
(d) ' Pitch of thryad

By a gear tooth calliper what can be
measured of a gear ?

(a) Module

O) Toorh thickness
(c) Circular pitch
(d) Addendumheight

As shown in flgure the m. eaps ofrsymboltfl used for

represeqtation of surface finish is
(a) surface may be produced by any

method.

O) machining oo surface is
nepessary.

(c) machining qlt surface is
prohibited.

(d) Non

(a)

(c)

29.

.1l

Miud

28.

30.
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ile : O vqqeFr qhqri* Yirdid'ffi qfu#rrr q?ffi r

Note : Qucstion No. I is compulsory, answer anyfivc quettiowfrom tlu renwlning.

$il vdrrr#uqt qnlqiffiarrqr'(rgiqtdfuv t

Solve all pans o! d'question consecutively together,

(iii) s-afiewwwYeinwffi r

Start each question on afresh page.

(iv) ctai czvre# d rrry{dC' 4 ffi+.rifuft af*< frq,q} t

Only Engltsh version is valid in case of differerce in both tle langruges.

1. (i) *arfemriqaffig I'

Give compositiort of Stellite.
(ii) qfffi{q +fim< d qqgtr+ t

Explain the principle of Interference.

(iii) W"qiT{ q{fi{ frt los r,mrt frrfqffflil ott r
How do you specify a slotter machine ?

(iv) \l-fltrGliil { mqfi{q,.$i Efr+o'rd{ qr$tr+ I

Explain primary and secortdary texture ifl surface finish"

(v) #r ffi { qqswrfttrwl frqrqnrtt
Why clearance angle is given in the cutting tools ? (2x5)

2, (i) qoq1rc q{ftq *g6l-drq 6} r+qq Hqr sr{frfu Er fr qoh efrfrq t

Explain the construction and working of tail-stock in a Lathe Machine with the

help of sketch.

(ii) q56 ftr{d.{ silq1t61 trfrt'r fua ERs} rtt+fu qrcr t r qqg1qg t

On what factors the rake angle of a single point altting tool depends ? Explain. (6+5)

(7) P.T.O.
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3. (i) ffiqr+n+tutnqvil+d{*q{sqr+ I

Briefly discuss various types of Lathe Machines.
(ii) +T{'ix y{Et qr+ qR+ ffi u: {hqr€fi +fu q+r+rw*'qrq ffi !

Sketch any six drilling machine operations and name them (6+6)

4. (r) w'*rwr ft { tq *t 6 qrq$ 
'rfr + frq r.il'r *+ il* frFr, fuffi s}a rft t r

ffig66gfi€qot{dftiln I

What are the different mechanisnrs used for quick refirn of ram in a shaper
machine ? Explain any one with the help of skerch.

(ii) rFlaFFr.ix *.tq qr'il +'qrq frfi{t w {frq{ qq$rd I

List and describe in brief the main parts of a planer (6+6)

s. (i) qq{n} { &qi qqae+ I

Explain the errors in measuring instnrments.
(ii) ++€ mi€{trr fud trRr sr4 ftram qq u+rfrfu qr qoh,ffit 

r

Explain working principle and use of Bevel hotracto(with the help of diagram. (f+6)

6. (i) N.P.L. qftfq qfuwr ql+ElqP€qtlrffi 
r

Describe with sketch the N.P.L. flatness interferometer;
(ii) ft arcffir*'q'*sqrrn +iqrflE+ r

Explain screw thread measurement by tlnee wire meitrod (6+d)

7 . (i) frfiqq qtk. E.dfui *'=nq ftfisq qd ffi W'*t EFdrlrcfr qil FE* rra rrqar{A I

Name vairous mechanical comparators and explain &e working of any one with
skerch.

(ii) qqr+fiEntftflfrdqtHq r fqfi+qr+n*'orarftlqqileqqfi{+ I r

Define Fit. Explain various types of fits with skerch. 6+6)

8. frq{+frET*{qt{frrqffifrH:
Write short notes o.n any three of the following :' (i) dqr+q

Limit Gauges
(ii) fr rt qndF*r'qo

Three jaw universal chuck
(iii) rrcr qfumur qt srmfue 6rt qrd irrcr

Factors alfecting strface finish
(iv) iq{q{rq+tf+r=*frM

Different methods of taper turning (4l(.l)

#i
,4


